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What fraction of this shape is 
unshaded?

Arrange in order from lowest to 
highest

0.2    0.18    0.202    0.3    0.27

Calculate 

4 x 1.3

James puts six 20p pieces into the 
piggy bank.
His mum puts four of the same coin 
into the piggy bank.

The total value of the ten coins is £1.60. 
What coins did his mum put into the piggy 
bank?

David runs a half marathon.

He started at 08:10
He ran for 135 minutes.

What time did he finish?

Name: ______________                                    5-a-day                                               Numeracy
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